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Summer Assignment for Calculus I (M115)

1. Find the domain off(x) — X+ 12 . 4. Given f(x) = 2+x4 and g(x) =A/x—4.Find
4-x (/> 2)(5).
a. (_OO’_I)’ (_1’2)’ (2’ OO) a. 1
b' (—CD,—Q,), (_23 2)3 (23 CD) b 2
c. (-0,-2),(2,0) c. 3
d. (—OO,—2), (_2’_1)’ (_1’2)’ (2’ OO) d. 0
2. Simplify the expression L[z + 2 . x+2 3x
x+y |y Xx 5. Find all solutions of the equation =2 - 3r—6
a. 1
a. x= g 3
b xX+y
Sy b. No solution
x4y c. x= —g 2
c. — ——~ ’
xy(x+y)
L1 d x=-22
d —+=
y X

3. Write f(x) =x” — 6x + 5 in standard form.

a. -3
a. fr)=@x+3)° -1

b. 3
b. flx)=(xx-3)" -4 o
c.‘ﬂﬂ:[x+%] _% d 2

d. fix)=(x-4)"-2




10.

Evaluate the expression log,,3 +log,,48.

a. 4
b. 1
c. 3
d 2

a. x=19
b. x=21
c. x=93
d x=31

a. x=-5
b. x=5
c. x=2
d x=-2

tan(x)  sin(x)

Simplify the expression

a. sec(y)
b. csc’(x)
c. sec’(x)
d. cos(x)

csc(x) * tan(x)

11.

12.

13.

14.

Solve x*2° —2* =0 for x.

a. x= 111(2),%
b. x=-1,1
c. x=-2,2
d. x=mh(2),1

Given cot(x) is undefined and cos(x) > 0, find
csc(x).

a. 1
b. 0
c. Undefined

d -1

Solve e —3e* +2 = 0 for x.

a. x=0,In(2)
b. x=0,In(3)
c. x=0,In(5)
d x=1,2

: 3 .
If sin(x) = - for x in Quadrant I, find

tan(x) + sec(x).

a. «/E+2
b. A/2+3
C. «/E+1
d ~3-3



15, Simplify th . cos(x)sec(x)
. Simplify the expression —cot(x)

18. Evaluate sin[tan_l (%] l

a. sin(x)
. 25— x?
b. tan(x) ' 5
c. cot(x) b ——r
2
Alx”+25
d. cos(x)
X
“ X+5

(o

16. Evaluate sin[cos1 [— ]l 5
d.

Nx? 425

~l'53
e
19. Find all solutions in the interval [0,27) of
53 2sin(x) - /2 = 0.
b. ———
7
a. x==2-Z
3/5 474
e
T 37
b x¥=7.7%
L 35
-7 o G I 2m
3’3
17. Find all solutions in the interval [0,27) of d T 3«
X=—,—r
cos’(x) —cos(2x) = 0. 47 4
—0.x
a. X=5U5 20. Simplify the expression cos(x) + sin(x) tan(x).
_z 3z a. cos(x)
b. x= >
b. sec(x)
c. x=0,7
c. cot(x)
d x=+=1
d. csc(x)




Short Answer: Show all work to justify your answer. All answers should be exact (no decimal answers).

21. Find the x- and y-intercepts of
fx) = (x =2)*(x* = 25).

22. Solve the equation e = 8.

3
23. Find the exact value of tan™" 3 -

24. Find all solutions on the interval [0,27) of

2cos(20) = «/3

25. Suppose lim f{x)=-5and lim g(x)=-7. Find

T80 200
m, [ 9+ g(x)

26.

27.

28.

29.

30.

Find all solutions on the interval [0,27) of
sin(26) + cos(6) = 0.

NAI -1
Evaluate Im L.

x—>0 X

Evaluate lm [ 3
x” —4x

.
x—>-2

ﬁ—h+m]

Evaluate Im

X —> 0

2x® —5x% +3x
= —2x+7 |

Find all horizontal and vertical asymptotes of

Sy ===

x° +5x7 —84x



